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 Total No. of Printed Pages: 3 

SUBJECT CODE NO:- A-1276 

FACULTY OF HUMANITIES 

B.A. T.Y. (Sem-VI) 

Examination November/December- 2022 

Home Science – XII 

Human Development (Adulthood & Old age) 

 

[Time: 1:30 Hours] [Max. Marks: 30] 

Please check whether you have got the right question paper. 

 

N.B 1. All question are compulsory.  

2. Use pencil for diagrams.  

3. Use black & blue pen only.  

4. Use of any signs, attracting attention is prohibited.  

 

1. सर्व प्रश्न सोडवर्णे आर्श्यक आहे. 

2. आकृत्यांसयठी पेन्सिलचय र्यपर करयर्य. 

3. फक्त वनळ्यय र् कयळ्यय पेनचय र्यपर करयर्य. 

4. कोणतीही लक्षरे्धक खूण र् सूचनय करण्ययस प्रवतबांध 

 

Q.1   A) fill in the blank (attempt all)  

1) Youth is the Period of ______. 

2) Middle age is the time that Produces _____ 

3) _____ this is the last stage in the human life cycle.  

4) Degradation is related to Physical decline in old age 

5) Lack of Industry, business for the elderly is a matter of _____ stress. 

 

अ) ररकयम्यय जयगय भरय (सर्व अवनर्ययव)  

1) तयरुण्ययर्स्थय हय _____ चय कयलखांड आहे.  

2) मध्यम र्य हय ______ वनमयवण करणयरय कयळ आहे.  

3) मयनर्ी जीर्नचक्रयतील हय शेर्टचय _____टप्पय आहे.  

4) र्यधवक्ययत शयरररीक ऱ्हयसयबरोबर ______ ऱ्हयस ही बयब सहसांबांध दयखर्णयरी आहे.  

5) रृ्द्यांनय उद्योग, व्यर्सयय नसणे ही बयब ______ दृष्ट्यय तणयर्पूणव आहे. 
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B) Answer in a sentence (attempt all)   

1) What is Adulthood?  

2) What is the average age of middle age? 

3) What is old age? 

4) What is the significance of eliminating financial Paralysis in old age? 

5) What level of Power is the resuscitation given to the elderly by the friends? 

 

ब) एकय र्यक्ययत उत्तरे वलहय (सर्व अवनर्ययव)  

1) प्रौढयर्स्थय म्हणजे कयय?  

2) मध्यम र्ययचय कयळ सयधयरणपणे कोणत्य र्ययपयंत धरलय जयतो  

3) रृ्द्यर्स्थय म्हणजे कयय?  

4) रृ्ध्दयर्स्थेतील आवथवक परयर्लां बन दूर करण्ययच्यय दृष्टीने कशयस वर्शेष महत्व आहे?  

5) कोणत्य पयतळीर्रची शक्ती ही वमत्रमांडळयतून रृ्द्यांनय वमळयलेली सांजीर्नीच असते? 

 

05 

Q.2   A) Explain concepts/terms/unity/events (any two) (world limitation minimum 60 for each answer)  

1) Traditional Concept.  

2) Interracial Marriage. 

3) Social Maturity and adjustment.  

4) Changes seen in old age. 

  

अ) सांकल्पनय/सांज्ञय / घटक/घटनय स्पष्ट करय- (कोणतेही दोन)  

(प्रते्क उत्तरयस वकमयन शब्द मययवदय ६० शब्द)  

1) पयरांपयररक सांकल्पनय  

2) आांतरजयतीय वर्र्यह  

3) सयमयवजक पररपक्वतय र् समययोजन  

4) रृ्ध्ययर्स्थेत वदसून येणयरे बदल 
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B) Answer in short (any two) (world limitation minimum 60 for each answer)  

1) Explain the factors that affect the entertainment of youth.  

2) Tell us about middle-aged Physical Changes and adjustment  

3) Explain the mental changes in old age.  

4) Describe the general factors related to the change of taste in old age.  

 

ब) थोडक्ययत उत्तरे वलहय (कोणतेही दोन)  

1) तरुणयांच्यय मनोरांजनयर्र पररणयम करणयरे घटक सयांगय. 

2) मध्यमर्ययतील शरररीक बदल आवण समययोजन यय वर्षयी मयवहती मयवहती सयांगय. 

3) रृ्द्यर्स्थेतील मयनवसक बदल स्पष्ट करय.  

4) रृ्द्यर्स्थेतील अवभरुची बदलयांशी सांबांवधत सर्वसयमयन्य घटकयांचे र्णवन करय.  

 

05 

Q.3   Answer in detail (any one)  

(world limitation Minimum 200 for each answer)  

1) Explain in detail the characteristics of middle age.  

2) Highlight the major issues of old age.  

 

सवर्स्तर उत्तरे वलहय (कोणतेही एक)  

(प्रते्क प्रश्नयस वकमयन 200 शब्द मययवदय)  

1) मध्यप्रौढयर्स्थेची रै्वशष्ट्ये सवर्स्तर स्पष्ट करय.  

2) रृ्ध्ययर्स्थेच्यय प्रमुख प्रश्नयांर्र प्रकयश टयकय. 

10 
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